ELECTRICAL CIRCUITS 1 - CLASS NO. 05 (04.11.2024)

RCMBRKS:  voldage - eleciic  potentiol  difference

® ® 0 6. . ®

A A Q& Iy at
et o tao S i B i
<+ , L e
Vae Vea Vpg
1= Vao VoV 7= Voo No-Va 1o e _a-Ve
R R GO TR | Batfy
e ® (@) |
al Q.. g : G AT & E QC“'? ‘
Va- Ve =Ve-Vo © Vo=Ve-F :
1= = E=le-tp > Vo Vc’_ T= VA‘(')\V*’» £=Va-Ve = Vo= Etle

-V +E
R

A S R P
@
53

THE NODE-VOLTAGE METHOD

' : t Law
the method s based On kirchho¥ds  Cuveen i
;k o this methgd we select one of-the nodes o e civauit to be the vedovence node

ound node) ,
% ﬁi\epgﬂ;@ﬁtial ol the gmund node is defired fo be OV
4+ ol Hhe other node volfages ae measuted vish vespoct o this one referene node
4 the sequence ol +he slops:

| identidy all nodles

| choose @ tedetene node |
 assign Volage vasiables Yo the others nodes (node volteges)

L anide a KCL o equetion Lo eadh node ( U Ohms Law)
| solig the vesulting system 0f equgtions for all nodde Vo lfeges

| colalele currents ustng Ohm's [qo




PROBLEM #1

Colylate 4he voltweter teading in the Civait Shoun 10 the fiqute. Use the Node-Voltage
Mothod. Fa AV, E< Fy= 6V, fa= 00, ko= 380, Ro= 330U, Ru= 450, Rs= 420, Rv= o0,
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PROBLEM #2

Wile the equations dccording 10 the Node- Volfage Method for the  citcuits shown in the figuies
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